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(New Course)
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COMPUTER NETWORK
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from Section B and any one question from Section C.
Section— A
(Numerical/Analytical/Problematic Questions)
1. Fill in the blanks : 6
1 — - networks consist of many connections between
individual pairs of machines,
(ii) H,_m'imismndulndaﬁerthclehphﬂncs}ﬁm

[iii]Th:nll:hsIandsliHmuﬁ:mmmuntrnnsmwam"
medium is ........
(iv) Hansportlaycrduesmtguaruﬂeedtlimwuf ........
1 [IE— - is the number of bits transmitted or sent in one
second.
) i ~ of wires will reduce the effect of external
mterface.
PTO




[2] BCA-503(N)
N 7 e " 10. Explain congestion control algorith,

{1} Crosstalk basically means mterference between the 11, Write design issucs of ncitwork layers.
(i) nh“ﬂﬁd“!”hr.;z R=vgn EEEE.H_.HH eI eyt
s (polynamials) of 1101. Find the CRC.
(i) Eﬁmﬂ&nﬁﬁﬁr Gk be Gelod mio GEAS . 1 e o nemeand u?aﬂiﬂuﬂiﬁmﬂr
{v) The transmission medivm decides the highest value of Section —
Ty (Long Answer Type Questions)
{v) The rransport layer s not respomsible for 14, (a} Discoss different vpes of ransmission medis in degail,
sepmentalion.
{vi) The redundancy checking technigues is based on () Writc the fusctions of session layers.
binary mukiplication. 5. {a) Write the functions of presentation layer. 5
3. Define the following : i b} Write the name and cxplain technigues for schioving
(i} Congestion in network layer. good OO, 0
u) Caleways.
(iii) Link access procodurss.

Section—B 6 cach
Short Answer Type Questions)
4,  Explan 051 model in detsil.

5. Definc all types of network topology with advantages and




